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The Discriminant (A)
- the Portion under the root sign: A= b2 —4ac
If ...

b2 —4agc >0 there are 2 real answers
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b2 —4ac < 0 ( there are po real answers
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Determine the value of X
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Determine the numerical Perimeter of the right triangle
shown below. All measurements are in centimetres.
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The right triangle and the rectangle given below are equivalent.
The sides of the right angle of the triangle measure (x) cm and
(3x — 12) cm respectively and the hypotenuse measures (2x + 12)
cm. The height of the rectangle is 15 cm.
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What is the numerical length of the base of the rectangle?
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What is the numerical length of the base of the rectangle?
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